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<!DOCTYPE html>

<html>
<head>
<meta charset="utf-8">
<style>
#gradi {
height: 80%;
width:5px;
margin:10px;

background: -webkit-linear-gradient(red, blue); /* Safari
5.1-00%

background: -o-linear-gradient(red, blue); /* Opera 11.1
120%

background: -moz-lingar-gradient(red, blue); /* Firefox 3/
-15%

background: linear-gradient(rgba(25, 108, 232, 1), rgba(1
56, 128, 1)); /* RAERGIEE (WARERE) */
}
</style>
</head>
<body>
<divid="grad1"></div>
</body>
</html>

<htm >
<head>
<neta charset="utf-8">

<styl e>

#gradl {
hei ght: 80%
wi dt h: 5px;
mar gi n: 10px;

background: -webkit-Ilinear-gradient(red, blue);

*/

background: -o-linear-gradient(red, blue);
backgr ound: - nbz-1i near - gradi ent (red,
background: |inear-gradient(rgba(25,

1));: I* */
}

</styl e>

</ head>

<body>

<div id="gradl"></div>

</ body>

</htm >

108, 232, 1),

/* Safari 5.1 - 6.0

/[* Opera 11.1 - 12.0 */
Firefox 3.6 - 15 */
rgba(14, 56, 128,
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